"B - R X

LI 20144E4 A 12 A () KA FE SHRE T AChke KRExz—R 14240704
2 i 44 — AR N S A a—k24 FTo s EHE RE B
A 4 gnRE TR B e W4 eRRETE A MR R EREGE B —R 243080 Bt B OB OB R 5w
BTxEHE as
o E fE M M
M
A} (3] i 241 3L AL 5L 6L e 8fir
. L B 11.070.0) | 4% ¥ A(2) 11.26(0.0) |4+ fFEIK(3) 11.38(0.0) |RERF L3R 11.39(0.0)| 78 1L 75— 11.430.0) | #2585 HEf(4) 11.53(-0.8)|[/hid  Zif2(2) 11.54(-0.8) | AT i 11.57(-0.3)
AR12H |~ 100m . o . oo X o o - " oo
ULTIMATE SREEEEIRR i YYIAZT TRy = YYTA=TT) Ay - EhE V9 H it YUTA=T T )uy =
e 22.90(-2.4) [ 1L 7 23.32(-1.5)[h4 f5K(3) 23.34(-2.9) |tk BEA(2) 23.36(+0.8) B PESEG) 23.61(+0.8) [/ Zi(2) 23.90(+0.8) |4 HESN(3) 23.92(-2.4)
sl s ULTIMATE YTAET T /Y = e F fE N FhRE 09 H it VY [ i
HZE| T 200m B () 23.36(+0.8)
SR
1A120| BT 100m TF #G) 51.66|# MEA(5) 51.74|#&H KB @3) 52.27| M HEE®) 52.42|NE EREB) 52.61|/)11 FA(3) 53.41|6 0 JE(2) 53.99 | B IEF PEEE(2) 54.55
LELI SHIRE LELT 09 A i 04 F SR 09 F FhBE
1A120| BT 800m HEH BRM4) 1:59.03 (71 F  #(3) 2:03.73| M0 Q) 2:04.64 |11 FA(3) 2:06.22| 97 Gi4) 2:07.57 7)1 EEHR(4) 2:07.64| 3% sEK(4) 2:08.79|H7E  KAH(3) 2:08.88
FhHE 09 A i LELT 09 A i FHE A FhRE EHHE FhpE
AAleg| BT (T #a 4:08.48[ka A TEH(2) 4:10.37 )11 H2HR(4) a1L28|fin TER 4:12.78 [ FHESE FL2) A:17.64[ 9P Sn(4) 4:18.36 [tk #HL(3) 4:18.71 [y TLIRE) 4:19.35
1500m CEAS-R i) R Y.W.C VY A i bl Ak LAl B
AAlep| ST (T Fa 15:28.29|B%/2 Al 15:36.73 | 435 [ 1L.(2) 16:12.46 3T HLHL(3) 16:31.90|B%H FA(3) 16:41.78|#HL1 RA(2) 16:44.91 | 4R FH(3) 16:50.62 |4 HKik(2) 16:51.90
5000m =Y INTRAIAS V4 [ i V4 H i T B VU H i A VY H i
18120 —H B | ERERERES) 15.61(-1.8) |12 H-th(2) 15.88(-1.8)| e 4 A1l 16.37(-1.8) | Kbk H5L(3) 17.19(-1.8)
110mH SREEE ShEEEI ULTIMATE shEEE
5 —iH 5 hE 53.09
An 400mH ULTIMATE
ULTIMATE-A 43.06 | £HHE FH-A 44.34|FF E-A 45.02 [ H E-A 45.14 |FEm-A 45.97 [ & H & -B 46.13 | HE-C 46.40 [£RFE R -A 46.82
S PN 2 P EER(3) R BHR3) s KRG R H13) T Bih(3) FPIE Fni(3) EIE PRE2)
PUSEIEY I A T [Z 0 HERE HAHEGD) P HEKG) S RERG) B W) A HEHR) [ - INC)
FA i BER FEAL(2) fi#s Fnf=(3) T FHE) - ERHIB) Bk EEE3) B 5E2) BB —HEQ2)
AL B PEG) A HEEER) A BEFR) Vel wiiE3) A O (2) BEEhG) S FER(3)
JINEREACER(3) 2m00(F il MR 1m95 |k 45(5) 1m90| 75 H  KEH(3) 1m8O|H  f2i5(2) 1m60
1A 12H —EE T (SRR #5#ERun Dream FHIE AT FHRE R ERa]
B WET F4) 1m60
E1UN
1A 12A M1 PR3 AIh(3) 6m31(+2.7)[BeA ZEA(2) 6m29(+1.9) [{EiE  HLIfE(3) 6m26(+1.0)| 1A HFIA(3) 6m25(+2.3) |k A 6m24(+1.3)| I #4:(5) 6m17(+1.3)|PNH KA(3) 6m13(+2.9)|fpA: HRA(1) 6m13(+2.6)
AL g JAF6m29(+1.8) | S E /LR % i AR L |ULTIMATE BREEY B NGk N Faii /AF5MB0(+1.3)
1A 12A BB T i &) 13m66(+4.8) [ FHH(3) 13m57(+3.1)
—BBE |mme ARG | SHIE T AR L
1A 12A - 55+ WK Judk(2) 1mO7 | 3(2) 10m64 | JITFF EL(2) 10m15
TAL#(7.260ke) | = 5k =EK SNy
47120 R P FB2) 11mO08| K% HEA2) 10m89 | A #iii(2) 10mb54 | B[ Foig(2) 10m40 | A #A:(3) 9m68 | HH  EHH(2) 9mb9 [ HEIL(2) 8m93 (1L I th(2) 8m75
fi AL 2(6.000ke) |7t ik ki ) Fii 2 SHIEE SHIE T R
1A128] - 55+ WK Judk(2) 39m95(#ZH  FB(5) 32m53 [#EHF HEL(2) 27Tm33|JIIF EA(2) 25m42
[ #(2.000kg) | = &k PN Sk S
47120 EB T A HAEB) 29m69 (AR HIA(2) 29m40 |78 11 FHB(2) 29m32| KR B 2Tm78 3 HEAF(2) 27Tm19|BFR Fnig(2) 26mo05 5 A 124(2) 24m87|HH A (2) 22m95
PEB:(1.750ke) |2k ik ki ) Fii 2 Faski i ]
17120 — B ¥ BLH PR 50m76 |2 52#(3) 48m62 (A #iAii(2) 42m82 [InE A 2) 2m71|H FE 42m07 [&:7F #wE©2) 38mb52 3Tm86|H A EA®B) 35mb3
OBB008) [jA =g M A i fsE /L Ise TC S T/ ShIEE




"B - R X

LI 2014424 A 128 (1) F1IE] SRR TR KRExz—R 14240704
(55724 — AR N S A a—R24 FTo s EHE RE B
ERlahili= gnRE TR B e W4 eRRETE A MR R EREGE Bk —R 243080 BE %W R 5w
BTxEHE oS
oo E M M
M
Aft iR 2fiL 5L 6fir ThE
1A 120 | et 1oom B FHE) 13.47(-0.6) [ k2 )5 13.49(-0.6) 13.57(-0.6) [Hi 1H3£(2) 13.63(-0.5) [ILiA& #3P(2) T #A(2) 13.75(-0.5) [ 1R #4(3) 13.84(-0.5) [fE1H F1 () 13.87(-0.5)
¥ [ A i 5 A 09 F i ERHETE
1A 120 | 2T 200m R FEA(3) 27.56(+0.4) [ILA FI(2) 28.96(+0.4) 29.21(+0.4)|(HiE A ZF3) 29.36(+0.4) [T fH43(2) AL AA(B) 31.63(0.0)[SFH  Hik(2) 32.16(0.0) | SEW:(2) 32.70(0.0)
¥ [ E i 5 P9 A 09 F i Fi SRR
. - EH £©) 1:04.57|fEf H115(3) 1:05.82 1:08.75| Il 3£06(3) 1:09.47| K4 F275(2) R NG 1:11.65
VIR AT A0 s s WA i 1A i
. . 3% 4(2) 2:42.63| AR #E3E3) 2:43.51 2:45.51 | TH2(2) 2:48.04 |4 IRRAI(1)
| R B0 | WA i s i
AR1on|  TRE&T [mEEsme) 5:21.38 (K HR(Q2) 5:22.23 5:23.78 1B % J5(2) 5:30.88 4T JARI(1) KA HER) 5:33.12 (1A (£Z5(2) 5:44.21 £ H A 75(3) 5:46.43
1500m i SR ShEE i FH V4 H it e A
AR1en| kT[RRI 113411 R H L) 11:51.98 12:14.28|PH1 3BE(2) 12:30.72
3000m FhHE E 09 A i
Afien| MET O |EER G 17.43(-1.6) [HERIZDHTN3) 18.50(-1.6)
100mH V9 A i 09 A i
A 52.02 4 53.86 55.98
ST ) k< H21(2)
gzl R A EG) R
g HEG) T HBK(2)
A () SERIRZE2)
1H12H S it () Im51|FFH KEQR) 1m50 (& 1m45 [ % RFEFE3) Im45| %A J1-3) WD ER(Q2) 1m30 | R4 [BeAd(2) 1m10
EEBE g e i F 5 7 H it i G vy i
1H12H Mt i EAE) 4m99(+2.0) [ALAT< 5 7(2) 4m86(+1.9) 4m30(+3.5) [ 1 WEEG) 3m82(+1.5)
EWERE s M 23m71(+1.6) |41 36
1H12H ittt IR E2) 10m64 |7 1= ZEA(3) 9m05 9mO1| L% HE3E(3) Tm88 | AR HAL(3) Peft H722) 6m94
figFL$(4.000ke) | =k TR o i ShIEE ShEEH
1H12H BT W FREQ) 23m60 [ A £ F4£(3) 21m58 19m54 | /TG AAEE() 19m26
FiEB2(1.000ke) |72k 8 SHIE )
1A 12A S I ZRFRE(2) 38m71 |2 F5(2) 30m09 25m48 [ ALRACH 1(2) 23m65 | (i HiEL(3) TR ARELD 13m64
RVB6009) | =dik SHIE SHIE A Faski




